AR AE

kolme murto -osaa, desimaalit, toimintojen jarjestys

suluilla
Nimi: Paivamaara: Pisteet:
1 7 14
5(= +3,6) = - — )/ =
(5+3.6) G-
1 91 21
2+ — 5,9= — )7 =
@+ %5, (-3
124 —
(4+T)+8= 5(291+498)
171 108 102 144
( 5 5 )9 ( 5 5 )+ 6
— 3
2(4,9+3,1) (5—3,1)x§=
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AR AE

kolme murto -osaa, desimaalit, toimintojen jarjestys

suluilla
Nimi: Paivamaara: Pisteet:
41 7 14 5
+ ———=)+7=(—=
S(5+3.6) = G-5)77=C5)
531 91 21 11
2+ - 5 9 _ — —7 = —
( ) 40 ( 5 2 ) 10
124 18
4+—)+8=— 52,1 +4,8)=
5 5
171 108 31 102 144 7
()= (5~ =)6=(3)
2(4,9+3,1)=16 3_57
> > 5-3,1 - = —
(5—3,1)x >~ 29
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